MATH 102.5 (Term 142)

Quiz 3 (Sects. 7.1, 7.3 & 8.1)

Name:

Duration: 30mn

ID number:

1.)(3pts)If cothz =*3, with z < 0, then find

the value of sinh 2z.

2.)(3pts) Find the slope of the tangent line to the curve y = In(coshz) at x = In2.

3)(4pts)Evaluate [ = [{ o*(Inz)*dz,
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MATH 102.29 (Term 142)
Quiz 3 (Sects. 7.1, 7.3 & 8.1) Duration: 30mn

Name: ID number:

1.)(3pts)If tanh 22, with z < 0, then find the value of sinh 2z.
2.)(3pts)Find the slope of the tangent line to the curve y = (4z% — 1)csch(In 2z) at
=1,

3.)(4pts)Evaluate I = [ %(Inz)%dz.
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